GES/SBVC/SYBBI/ SEMESTER END EXAM/2022-23

PROGRAMME: SYBBI SEMESTER: ITI
SUBJECT: ORGANISATIONAL BEHAVIOUR DATE: 4/10/2022
Time: 9.30am-12.00noon Marks: 7 5

Note: | 1. All quesﬂonsTaEcompulsoVwﬂh internal choice.
| 2. Figures to the right indicate full marks.
Q.11(A) Choose the correct option from the following sentence .(Any EIGHT)
1. [The prenatal environment refers to the environment before_

A. Life b. birth c. event d. death

2 lJohn Watson conducted his famous experiment on little
a. John b. Tom c. Albert d. Philip

3. [The ___ selfis our basic public Personality.

Kl

_\

=l
1

2 Blind b. unknown c. open d. Hidden '
| 4 |Communication is defined as tr ansfer and understanding of
' a. Inf01 matlon b. knowledge c. meaning d. Wisdom ‘

B _\“ 51 Iap pelson with  power is able to exercise “control over other -t who admire, respect and like him. ' |
a. Coelcweb referent c. legitimate d. Expert

[ 6. |All things being equal integrative bargaining is ___ distributive bargaining.

4. Worse than b. same as c. better than d. Toucher than
. . orse than b. sameas & 7~
7. [The ego state represents the mature, unemotional and rational side.

:_ 4. Adult b. parent . child d. Patting - —l——-li
8 [No criticism is allowed in __. |

| a. Nominal group technique b. brainstorming c. electronic d. Shift

] 9.| isseenasadirty word. o

a. Burcaucracy b. authority c. diplomacy d. Team I

|
|
- —1']T ~is a schedule of ~ reinforcement in which the reinforcement is delivered after var ymo o number o?i:e?po-nsc
| h1as been made.
a. Fixed ratio b. variable ratio c. fixed interval d. Variable interval B
B) State whether wer the following statements are True or or False. (Any SEVEN]) (07)1

The influence of peers is particularly strong during the adolescence years.

)
4TZ)_Slmme is based on the principle that a little can eventually go a long way. o l

: _———____——————'——’
| (3) |Pun,epu0n remains unaffected from one situation to another situation, | |
: dl=

Lo e
motion and moods are the same. ] |

5) The first s m,p in decision mal\m(I is problem dlaonosm { |

More COIHITlUﬂIC&thﬂ is better commumcatlon

_—__________——————__—____ - — —y

' (7) prert powu comes from higher authority. |
—— - — = S|
(8) Intcm ative Bargaining creates a win —lose situation. |

i i teiii——

@

](1 O)’Tm size of organisation mgmfcantly affects its structure. R j j

Hn states are easy Sy to identify in group conversation.

|
|
]

l() 2 '(A} I[ \plam the Dete1 mmants s of Personality?
Q.2 | (B) Explain in 1 detail about observation learning?
A ———

] OR o 1
\\ 7_'_(C) IW hat are Determinants of Perception? 1(08)

0.21(D l\thl are | the Somce and needs of Emotions and moods?
e

(}3_'(_A) -

“a (BﬂWlnt is Lhe Conscquencc . of or gamzatlon pollllcs"’ _ - 'i(()7 |
231 e =3 : . =

—h

\U 3] Ci\phm in detail About Life Posmon° - TL08),

Q.3 (D) What are Ad\f.mmfm oc and Disadvantages of Virtual Tedms7 B _ - !I(_UI'Q“

IRl 1] e ——



Q.4 [(A)[What are the elements of Organization Structure? (08)

Q.4 | (B) |[Explain in Detail about common organizational Design? (07)
OR

Q.4 | (C) |What are the causes of Frustration? (08)]

Q.4 | (D) [How can we tackle a Frustration? (07)_'
B ) OR

Q.5 | (A) |What are the issue of OB in banking and Insurance? (08)

Q.5 | (B) [Elaborate about of Voluntary Retirement Scheme (VRS)? (07)
OR

Q.5 Write short notes on (Any 3) (15)

(1) |Shaping ]

(2) |Lateral communication |

(3) [Third party negotiation i

| (4) Virtual organization

(5) |Internal cause of frustration




GES/SBVC/REGULAREXAM/Oct 2022
SROGRAMME :S.Y.BBI SEMESTER: Il |

SUBJECT :Direct Tax MARKS: 75 |

DATE : 06/10/2022 R _.BMEi 09:30 a.nLLOJEOE p_.ﬂ.l,

1. All questlons are compulsory v with ‘internal choice.
2. Figures to the right indicate full marks. |

-

2. Figures to the rigt NP2 = — ——
Q.1 (A) [Fill in the blanks.(Any EIGHT) (08)

of the India. (Whole / Pamallx)

nd1v1dual does not satisfy the basic _condition of of Residential status, The/she will Bé%ﬁeaag —1 .
. (Resident / Non- Resident) '
Foreign agriculture income is in India. {ld\dble/ Exempl) |
The total of five heads of income given w/s 14 is called as
(Net Taxable Income / Gross Total Income)

Salary given 10 partner by @ firm is
(Salary / / Business & Plofessmn) |

Profession on Tax deduction s allowed on - baSIS ( “Accrual / dement) -

e e
Receipt from Statutory Provident Fund received by a non- Oovemment employee is
(Wholly Exempt / Taxable) ]

taxable under

_
Income from the transfer of a capital asset 1s “called I |
(Capital Gain / Income from House Property) - . -

Share of Income received by a member of HUF 1s ~ (Taxable/ Exempt) " |
- e e

phare ot mbb~ ~ - — A kg1
Deduction /s 80CCC is allowed to the extent of_ (l 25, 000 /1.50,000) |

State whether the following statements are True or False. (Any SEVEN) (07),
Income from agricultural land in Sri lanka is not taxable. '

M e e -
An Indian company is a non-resident in India. |

| e
- | incommuted pension received b) oovelnmwt emplo\ ec is u\empt

i I O e e e E————
1 (4) [In case of short-term (,apltal asset, indexation is apphcdblt |

(5)' wcstment u/s 80C need not be out of ta\able income. |
L (6) [ncome tax in [ndia is UOVCI erned by the Intmm Tax Acl. 1961. |
l ( ) Mumc;pal tax paid by owner IS allowed as deduction |10m dCK_mbd 10 be lu out plopelty _T
L 1(®) |lntelest on lncome tax refund 19 an muome hom othu :.oum ' -
] . (9) !nuomc can be in 1 cash or Kind. - _1_
| i(1 lAn)‘ sum: ILbCIVLd d under l\ey man msumnct polm is la\"tblc - - |'
I ey e 1
Q.2 (A) M. Ganesh is a State Govt. Employee: Details of income for previous year are as under: 'l|(15)"‘
I i R R
| Basic Salary Rs.4,00.000 |
| _D._A,________'__________'_' S __ATS.T,W_W |
- Commission - —— Rs.1.00,000 R
| .
i Entertainment Allowance Rs.40,000 l| ||
e [ SESESNNSEE
| Medical E L\pensgs s Reimbursed Rs.10,000 |
'\ “Profession Tax x Paid (Rs. 2.000 p'ud b\ his emplm er) N __T_RZS—,OOO | .|
Bonus SSpE— B - ______WT{S_ET)O—O__* :
| I e S — e o
~Rs50.000 | |

Compute his *Net Taxable ¢ SE\T):*_fo_rA—s&s_suTcB_th;{k_zo'iziz? N T |
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1 _ - OR

I _ R P
Q.2 | (B) [Mr.Abhijit, an Indian citizen had the following income during the year ended on 31st March,2022. (08)

Professional fees received in India 11,000 i
Income earned in India but received in Rome 12,000 '| |
Dividend from Indian Com_pzﬁy_recgv_e?in [ndia g ===l 6,000 |

Dividend from Indian Company received abroad 4,000 |
Salary earned and received in Paris o _IZLW‘
Income from agriculture in Nepal 15,000 |
Income from business in U.K. controlled from India 16,000 I

nt and oran;‘y Resident .

_Co_mﬁlt?his_fotﬁ Income as_s_u_mingif_im is: a) Reside

|
b) Resident but not ordinary Resident ¢) Non-Resident. [
|

Mr. Lobo, a Canadian citizen but of Indian origin came to India on 1st October,2016 for the first  [(07)!
time. His total stay in India was as under: "
‘ Year Ended

]
ro
G

319 March,2017 - | 25
315 March.2018 - ] 80 | |
31" March,2019 - | 180
S March2020 —ioo}
315 March,2021 \ 25 |

He informs that he was in Inzi_igfi"rzﬁw_l*‘__Abl"TZ-O2l 10 28" June.2021, both @ys_i nclusive.
Determine his residential status under [ncome-tax act for A.Y.2022-23 R
Mr. Mukesh is the owner of property which was let out from 01/04/2016 Onwards. 1(15)

Compute Income from House Property from following Particulars: |

2
= _wj_ —
E

‘ Particulars Rs. _[ i
| [FairRent - - 60,000 |
| || “Acioal Rent Receivable —— | 7300pm.}
\ | mt—/\LL_UdHT Received (For 1'()_!_\-/lo_nl—hmue_toTacancy) ] T 75.000 |
| MEHI:])_H IT\&T)TH Un_cIuah]g_f\rFeal_‘; lbl‘_eaTli_eryea?s) —— | 14400
| Tnierest on Borrowal paid during year S —_f__ 723,000
| i Tnterest on Borrowal pu-id pri«'wr_lo-()l/()AF'EOI() B - i T 20,000
'| ' C_‘(;llzc_t%_n clmrgcs_ o ESEe————— _L| o _3_"(_)0-‘{
| | “Unrealised Ren claimed as deduction in carlier yzlrmca\a&mng—tha_!— 11,000

||| year2021-22

|
R _"JV 8000

|. | Arrears of rent for earlier years received during year

. d[jj\gcﬁim'caﬁzpairs o pl'o_pcr_l) 3.000
| | Ground rent paid - ‘ 4500 |
i l, 1ELH_'ZIITCLTDI‘L:H].'IEHN paidT relating lo_thc-pi‘(ﬂae_rt? — | 2200}
| \
! ﬂ[<_\pu?j iture incurred on collecting unrealised rent - 3.500 |
" | =S S

o

S I — R .
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Q. fi’_(B_) Fm mns residential 1 house property on 08-06- 06-2021 for Rs.80 Lakhs which was purcnabcu‘\wu

by him for Rs.20 Lakhs on 05-05-2005.He paid Rs.1 lakh as brokerage for the sale of said property, |
He bought another house property on 25-12-2021 for Rs.10 Lakhs. He deposited Rs.10 Lakhs 0n|= |!
10-11-2021 in the Capital Gain Bond of National Highway Authority of India (NHALI). Cost Inﬂatioﬁ
Index for Financial Year 2005-06 =117 and 2021-22 = 317.

You are required to compute his Capital gain for Assessment year 2022-23. |

Q.3 | (C) [Compute the income under ‘Income from other sources’ of Mr. Dilip for A.Y.2022-23. T (Oﬁi
1. Income from agricultural land in India — Rs.12,000 |
D. Income from agricultural land in Bhutan — Rs.10,000. |
|
| || 3. Mr.Dilip is a tenant of Mr.Sunil in respect of a bungalow in Goa. Mr.Dilip has in turn rented the\ |
bungalow to Mr.Kapil for a rent of Rs.1,000 per month. Mr.Dilip pays rent of Rs.500 per month 10'-
| P p p |
|| ' |Mr.Sunil. |
| | |
II 4. Interest earned: -
L
|L , "1) On Deposits with Banks — Rs.500. .
| lh) On P.P.F.-Rs.1,000
| |
\ | c) On Govt. Securities - Net: Rs.12,000, T.D.S.- Rs. 1,200. }
| li \5. Lottery prize Net: Rs.50.000. T.D.S. - Rs.20,000. Expense on purchasing Lottery Ticket - ]
. |
ll | [Rs.3,000.
\ |\ 6. He received a refund from Income tax department pertaining to AY.2013-14, amounting ¢
|
\ Excess Income-tax Rs.2.000 and Interest Rs.500. -I
[ i
Q.4 FA} |T\E‘T\/li_1_i'nd gives you the following o information for the ye"u v ended 31° 315 March, 2022. - ;]r(j|>5).
| '| F P&L Account for the year ended 31-03-2 2022 |
, Particulars : " Rs. Paltlculals | Rs. [ |
I S — I . |
|l To Salaries ] 2.20. 000 By . Gross Profit 6,29.000 | ’
| e e = — o g = e e |
| To Rent 60, 5000 | By Interest Accrued on N.S. SC. | 6.000 ]
\ i -'———.'f'———'—————'———l———__ T = e |
L To Printing expenses ] 15,000 By v Gift from father 51.000 |
s 000 By Income from - e |
To Advertisement Expenses [ 5.000 | By Income from Mutual Fund T 12.000 | |
' .F____________.___L_____I_____ e ey
L To Motor Car Expenses | 80.000 ! By Winning from Lottery L 1,00.000 | |
| | | S - [ R I e
I To Income Tax | 12.000 | ||
| — ___._____—-_ —_———t — — — S— E— — e —— —_— e |
|l 5 To Embezzlement by Employer L 11000 '
| II “To Staff welfare k\l;ngcs - \i_ 3 .60(_‘)“';‘_ N - __. —
l ' To Purchase of N.S.C. - __'i 50.000 | S o _._| |
I e I — == e e ______;_____..__I '
|| To Depreciation '. 25.000 , ]
| - - : ; ! : = i E— =
| To Net Profit | 2.90.000
e T Total | 7,98,000 Toml | 798,000
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Other Information: _ ' |

1. Depreciation under Income Tax Rules is Rs.28,000. !
2. Staff welfare expenses include Rs.10,000 for medical treatment of'an employee. |
3. Rent is paid for his residential house.
. Advertisement expenses are incurred for an Advertisement In the souvenir of a political party.
Compute Net Taxable Income for Assessment year 2022-23. \
OR _ ) B _
Q.4 | (B) Mr. Ravi Kiran gives you the following information for the year ended 315 March,2022. (15)
P&L Account for the year ended 31-03-2022 -
Particulars Rs. Particulars Rs.
To Salaries 72,000 | By Gross Profit 1.60.000 |
To Rent 10,000 | By Dividend  from indian | ) 5.()()()_E :
Company i | |
i To De};‘ecialion 6,000 | By Dividend  from _ Foreign ‘. %ML |
Company | |
To Motor Expenses 4,800 | By NSC Interest ll 3.000 | |
‘ To Printing and Stationery 2,200 | By Interest on Compan_y Deposit 5,000 1‘
To Labour Welfare Expensc 3,000 | By Sales Tax Refund [ 2.000 | ,
‘ To Advertisement Expeﬁées 3,500 By Income Tax Refund 1 4.000 |
To Drawings 12,500 o T |
| | To Medi-claim Premium 14,000 N -
| [To Net Profit N 54,000 T
- Total 1,82,000 Total 1_1,82,()0()”1 |
[ Other Information:
I [1. Half of the rent is attributable towards his residential flat.
‘ 2. Allowable depreciation as per Income tax rules is Rs.7.500.
|13. Half of Motor Car Expenses are for personal purpose. |

L 1. Labour Welfare includes Rs.1,000 expenses for his personal treatment. |
| 5. Mediclaim premium was for his father, a senior citizen not dependent on the assessee. [t was paic
| through Internct Banking. Compute Net Taxable Income for Assessment year 2022-23. |

|

Q.5 | (A) I_xpl?iﬁ deduction u/s 80D, - : a - (08)
|(55 “TB)_EElain?h(-)rl and Long-term capilal_g-ain : - __ ___; |@
— : = - o == . |
Q.5  Write short notes on (Any 3) (15)

| 1) Residential Status of an Individual.

|

1% ]

Pension uhd_c?SalaF
3) [Deduction u/s 80U
4) [Deduction u/s 80TTA
Section 16 from Income from Salary. -

)
)

U] (][] =g =

—_—
(8]
~

}
|
|

=
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GES/SBVC/ SEMESTER END EXAM/2022-23

PROG RAMME: SY BBI SEMESTER: 111
SUBJECT: F OUNDATION COURSE-II DATE: 7/10/2022
TIME: 9.30am to 12.00 noon Marks: 75

Note: 1. All questlons are compulsory y with internal ‘choice.
' ) 2. Figures to the r1ght indicate full marks.
]Q 1(A )EIUI TIPLE C HOICE ()UES TIONS . (Any "EIGHT)

]— —~

in rural areas
‘ a)RBE b) GOl ¢) ! NABARD
2 Sukanya L Shiksha isaw elfare “scheme for the o
L Ll)uhlld b) Girl uhlld ¢ be boy ¢ L,hlld -
13 Full form ol JL. G is
! a)loint L ink Group t b) Joint L. iability Group ¢ c) Joint L _inked Group / Account
4. Solar po\\/uud ATM is moxll\ used in____arca
a) yRural b) City ¢) Leban -
5 Which vear RBI wnxmul\,d a working group y under the clulirnwn\'hiﬁ of KETANY
ltM7 by lum <) Ul::

6 H e assuranees anmd”u customers ul ~ to purchase nsurance policy
a)Bank b) Insurance ¢o. €) [nvestment €o.
7 Project linanee Is one ol the pluduq of  banking

| a)Corporate b) Semi Corporate. ¢ P 11\L|1L o
g 'Whao is the authority for payment & settlements system in india?
g)RBl b) Centr al Government ¢) Company [Law boand
9 Which is “of of the services ol v irtwal Banking?
a)Smart card b) Safe 1. ocker ¢) Deposits
10 ¢ nnpudll\@ bhanks havea _liersetup in India.
b h)2e) . 3
(B) State whether the followmg statements are True or False. (Any SEVEN)

(1) STAND UP INDIA SC TEME for GRE EN FIELD was Taunched for the benelit of SC ST &

W UH]\,H entr Lpl LI]LUI S

) SHG hdpa for \\nnun Rpum,rms,m
.J} Mobile Banking is pmmhlu nnl\ 1hmuﬂh '\hwhm \pp.
(4) Portivlio Manage has 1o Iu'l%lu with SEI 31,
(5) CDSLE was esl ablis ln_J Iy Ii‘wl m association Wit sorne bankes.
lJ] Overdrall min\ is nnun on \mnn tm,nunl

(7) I areign unmu are not s allowed W [hllll\.mdl\. s s slem provider.

(8) ¢ T nn banking & hmup banking are LU]HP'lel\ diligrent

EQ The nlu sipised sector Lunawlam commercial hunhs . coups aative hanks & RR1Bs
[

(1071 oreien bi ik branches mmll\ operate in metro & ter eitivs.
Q.2 {A) E:\Dlam the cauﬁes of failure & challenges faced by banks
Q.2 (B) Exp!am opening of new braﬂches under banking regu lation act
OR

Q.2 (C) & \pldm in detail [unctions ol TRBI
Q.2 (D) Define bankmg and explam the features of banking

o8

e e
11 is an apex refinancing  agency for the institutions plO\ldln” investment & pr oroduction credit |

[ R



)Q 3|(A) Explarh ) the srgmﬂoanoes & features of retalil bankrng’? ' ___' ' : o (08)
|Q 31(_ ) Exp|a|n the features of ( Corporate banking? - _ (07)
RN OR B
Q.3 (C) Explaln the meaning of Bz Banking g Ombudsman & state the powers & duties of Banking i(08)(
) Ombudsman. - - - R
|Q 3 (Dl![_:_\plaln the overview of 1utal banlun»T ) - - ___(07)_
,Q 4|(A) Explain the : advantages & disadvantages of universal banking? (08)
|Q 4 (B) Explain the he meaning of umversal banking & state the needs of umversal bankrng? B 7(07):

OR - .
IQ 4( )_Explam the advantages & drsadvahtages of E- barﬁﬂng’? - - - (08)
( ) Explaln different electronic delivery channels - (07)
|Q 5 (A) Explam the term Micro finance & state the features & needs of micro finance (08)
|Q 5 (B) Explaln the term financial inclusion & : state the features & advantage of financial inclusion(07)
_ _ ~OR _ -
Q5 erte short notes on (Any 3) - B ) (7
(1) KYC
‘@ Rtas o o N
(3 MWALLEL o - - B B
(4) IMPS B o R h )
(5) PMIDY - o -
I ' GI



GES/SBVC/ SYBBI/SEMESTER END EXAM/2022-23

PROGRAMME: SYBBI SEMESTER: III
SUBJECT: INFORMATION TECHNOLOGY IN B& I DATE: 08/10/2022
Time: 9.30am-12.00 noon

Note:

1) Figures to the right indicate full marks.
2) All questions are compulsory with internal choice.

Q1 A.Fill in the blanks (any 8) [8M]

1. URL stands for
2. Information technology act was amended in the year
3. Chart are used to display sequence of

4. DOS stands for

5. The FV function return the of a savings.
6

7

8

9

1

HTTP stands for .
allows us to extract the significance from large, detail data set.
stores e-cash, e-cheques, card details etc.
. The intersection of row and column is known as
0. Cyber terrorism is the crime against

Q1 B. State whether the following statement are true or false (any 7) [7M]

Using mail merge we can send mail only to one person at a time.

Black hackers are consider as legal.

Worksheet is a collection of cells.

Cyber stalking differs from online stalking.

Integrity information should be changed during its broadcast over the network.

CBS is front end system.

A network access equipment is an electronic circuit that manually connects to a preferred
Network.

8. WWW does not work on client-server approach.

SECVIE SRS

Q2) A. Write a short note on: internet, intranet and browser [15M]
OR

B. Define the term e-commerce and explain features of ecommerce

P.T.O



Q3) A. Write a short note on: RTGS and NEFT
OR
"B, Explain different types of e-payment.

Q4) A: Explain hlookup and viook up function with example
OR
B. Explain the following function

Sum
countif
If
Count
Sumif

Zea P P

Q5) A. Explain different types of cyber-crime in detail.
OR .
Q5)B. What is hacking? Explain different types of hacking

[15M]

[15M]

[15M]



GES/SBVC/ SYBBI/SEMESTER END EXAM/2022-23

PROGRAMME: SYBBI SEMESTER: III

SUBJECT: FINANCIAL MARKET DATE: 10/10/2022

[Time: 7.15am-9.45am Marks: 75

‘ Note:_‘l. All questions are compulsory with internal choice. N 1
| | 2. Figures to the right indicate full marks. - ‘
Q1. (A) Fill in the blank with appropriate option: (Any 8) (8 marks)

. Financial system enhance of financial claims.
(Productivity, Liquidity, Branding, Forfaiting)

7 RBI became a regulatory body in the year
(1935, 1934.1969, 1947)
3 First ime issue of securities take place in the market.

(Home. Secondary. Primary. Group based)
4 When a listed company makes another public issue to raise capital L itcalled
(Initial public offer, Follow on public offering, Offer for sale, Contract salc)

5. The  arepart of organized money market
(Chit fund. Mutual funds. Money market. Landlord)
6. The  istheoldest stock exchange in India.
(NSE. BSE. MCX. ASBA)
7. “operate on thin margin , leveraged trades and rapid churning of funds

(Speculators, Investors. Hedgers, All of the above)
S An official derivatives trading in the commaodities began in India in
(1975, 1775, 1875, 1885)
9. The objective of forward contract is
(Hedging. Speculating, Arbitraging, All of the above)
. A
(Bull. Bear, Stop loss. Swap)
Q1 (1) Match the columns

market were group of securities in which price are rising or expected 10 rise

(7 marks)

Column A Column B i
|| Credit rating agency A Similar to bill of exchange
2 | Insider trading B. Term money
3| Underwriting C. Issued by RBI
R D. Short term unsecured money market
5 | Call money E  Assessment of the creditworthiness ol borrower
6 | Commercial bills F. Know of privileged information
7 | Commercial paper G. Who undertake the risk

02)  (A) Describe about various component of Indian financial systen.
(B) Describe the capital market and money market in India in detail.
OR
(A) Organized money market and Un-organized money market in detail,
(B) Role of RBI and function.

p.T.0



Q3)

Q4)

(A) What [PO? Explain the process of raising funds through an IPO.
(B) What are the debt security and instrument of debt market?
OR
(A) What is money market and features explain in detail?
(B) What are capital market and its functions?

(A) Explain the function and structure of commodity market in India.

(B)What are reason of investment in commodities?

OR
(A) List out the type of commodity trading in commodity market.
(B) Challenges of the commuodity market in India.

(A) Difference between future and forward trade
(B) Disadvantage of trading in derivative market explain in detail
OR
Short note: (Any 3)

a) Role of SEBI

b) ESOP

¢) Commercial bank in India with example
d) Hedge funds

e) MCEX

8)
()

(8)
(7)

(8)
(7

(8)
(7

(8)
(7

(15)



GES/SBVC/ SYBBI/SEMESTER END EXAM/2022-23

PROGRAMME: SYBBI SEMESTER: 111
SUBJECT: MUTUAL FUND MANAGEMENT DATE: 11/10/2022
Time: 7.15am-9.45am Marks: 75 |
Note: | 1. All questions are compulsory with internal choice. _‘
2. Figures to the right indicate full marks. |
Q.1[(A)[MATCH THE COLUMN .(Any EIGHT) (08)
A B ‘
1. UTI a)First investment Company ‘
2. Scottish American [nvestment Co. b)Systematic investment plan ;
3. SIP )1940 1|
4. Investment company Act d)Unit trust of India "
5. Trustee company ¢)Performance would track the price of gold |
6. Gold ETF f)Proof of address |
7. KYC g)A company set up for the purpose of managing '
mutual fund !
8. Conservative risk pro—ﬁle— o __ﬁ)mdr_egs__es_tl{e client willingness to accept o '
investment risk. |
9. Risk tolerance i)Measu_re the probability of default by the issuer |
of debt security. |
10. Asset quality j)Aﬁ extren?ly conservative investor not prepared
to accept any capital risk or volatility. ‘
(B) State whether the following statements are True or False.(Any SEVEN) (07)
(1) [The government of India passed the UTI Act in 1960. _}
(2) |In mutual fund there is no guaraniee of return. - B
(3) Mutual funds are subject to strict regulation and oversight by SEBI. T !
(4) [The ownership of the mutual fund is in the hands of state government. 1 F_
(5) ]AMFI stands for Association of Mumbai financial institution. |
| 1(6) |Diversification helps reduction of risk. o ]
(7) |Growth and risk are associated with equity funds. - R
(8) INAV is calculated on Annual basis. o
(9) [The Jenson model is also referred to as differential return method. | _
(10)[ICRA is a credit rating agency. '
E_.Z (A) [Elaborate History and Phases of M@al fund? ___ __—_ - - ___ @8)_
Q.2 (B) [Explain the Features of Mutual Fund? (07)!
_‘__ = — OR_ == R il
Q.2 |(C) [Explain Structure of Mutual Fund In India? - o I _(Oé)
Q.2 (D) [What is AMFI? Explain Its Principles and Objectives? - lon
Q.3|(A)[Explain the Types of Mutual Fund? - - - ]_ _}
Q.3 |(B)|What are the Measures used to Evaluate Mutual fund peﬁ‘ormancé‘?_ - o T_7)
- . B —
Q.3 |(C)The Portfolio details of a fund are given below? - ‘(_05
|| Stocks No of Shares | Price |
l A 500 10 _4 \
B 600 20 .
c_ 700 ~ |30 _‘ ’
B D 800 | 40 .




A tund has accrued liability for. expenses amounted to Rs 10000. Caleulale NAV it Oulstandmg _

— 7| [Sharesare 20007 e L =
Q.3 (D) Calculate Closmg NAV assuming sales and Purchase NAV to be Rs. 20.00 (07)
| Opéning NAV — 12.5 , Outstandifig = 40500, Appreciation of Portfolio-Rs.-8000," e 1

Units subscribed 2000 unit , Unit Sold / Redeemed 1000 unit , Dividend — Rs.500,
| -[Expenses- Rs-700
Q.4 | (A) [Explain the Rating Criteria of CRISIL? (08)
Q.4 |(B) [Explain the Need and Importance of Fund Rating? (07)
|Q4](C) [Explain the Bond Vzﬂuaﬂon R 17 bR R A A D Ui = T g U LN LTI o S W ~1(08)]
Q.4 (D) |A bond of Rs. 10000 has ‘a coupon rate OFS% per annum and maturity period of 5 years. - ((07)
The bond is currently selling at Rs. 5000.What is YTM in the investment of this bond?
Q.5 |(A) [Explain the Steps in financial planning Process. (08)
Q.5 |(B)|[Explain through which we can do transaction with-Mutual-fund? — === = e (-0'75
- = = — = OR — — . = ==
Q.5 Write short notes on (Any 3) (15)
(1) [UTI i
(2) [Self Regulatory Organization
(3) |Gold exchange Traded fund
(4) |IDemat A/c N
(5) INAV i

X e-




GES/SBVC/REGULAREXAM/OCT .2022

PROGRAMME :S.Y.BBI “SEMESTER: Hll
!SUBJECT :Management Accounting MARKS: 75
[DATE 12/10/2022 TIME: 07:15 a.m. to 09:45 a.m.
“Note: | 1. All questions are compulsory with “internal choice. — 7

2. Flgures to the nght indicate full marks.

-

Q ( ) l'-.flatch h the followmg (Any / EIGHT) t(og;
l () ‘ Column 1 Column I1 I| 1|_ |
=== - e - — |
| | 1. Top Management a) Deduct From owner’s fund b
| e —— e |
| 2. Middle Management b) Long “Term Planning \ \
I, ——
| [ ri3 Calls-in-arrears ¢) CL-QL || \
' ] tTAdvance Tax d) Short Terml—mprovelment_d_ ) _I| '
| | | 5. Bank Overdraft # e) Nota Quick Asset | l
\ [ e. “Standard | Debt Sel'\_/igeaverage Ratio == d—fj_ C_A—_CT—_P__ S _| i
i | I By == = I —— — i
| I ~ 7. Debt—E qtntv Ratio g) 1.33 |
' il |. 8. Net Working (Tapital o — | _’h_) _Bardnn;SFee—tRatio -
| !| | 9. Op_c;at_ing (‘yagof Manufacturing Co. 1) Co?smﬁntT/ga‘-ﬁe‘tEaaﬂn(:ls o
| | [0 Swble Dividend Policy ) Raw Materials + WIP + Finished | |
i | Goods i
S L
(B) |bt‘1t¢ whether the following statements are True or False.(Any SEVEN) (07)
(1) Mandoement accountmé provndes information to In investors al about management. '.
_— — - —— ——
1 (2} t%hmgholdus are mtcmal “decision- makels ofa compﬂny .
[_3 \Budoets contain the plans ofmanagement T,
-

) C dplt’l] pr [ofit realised in cash can be used for paying dividend.

TOne of the few “assets that is s usually not depremated is Goodwill.

In a vertlcal balamc Sheet fictitious

Advances 1o suppllels for goods are classified as Quick assets In vertical statements. -~
|

Liquid ratio indicates the company’s ability to meet its long-term liabilities.

assets are e included | under er fixed a assets
CS el e

High Stock Turnover Ratio indicates high cost of goods sold.

Working capital requirement 1S hlgh, when the supply of raw materials is 1rregular |
=gy — e —_————— 1 ” _———-——_"'_'—_——.___-_ "_F x|
Q.2.( ) M/s. Alpha Ltd. Provides you following information: - ](15)'.
! rParticulars Details 1| -
\ | Estimated activity for the year 2,60,000 units (52 Weeks) _—I \ |
o e [ — | N
Selling Price Rs.15 |

Raw Material
Labour & Overheads
Profit

33.33% of Sales
-

In ratio of 6:4

Rs.5

Further Information:
4) Raw materials will be in stock for 2 Weeks.

I b) Processing time required is 2 Weeks.
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i ) Finished géadm stock for 2 Weeks. N e
'| d) Credit allowed by suppliers is 2 Weeks. |
| ) Credit allowed to customers is 4 Weeks. '
‘| f) Time lag in payment of wages and overheads —2 Weeks Each. ‘
o) Cash balance is expected to be Rs.25,000. ‘
h) Production and sales are carried on evenly throughout the year. |
Il i) Debtors are to be calculated at Selling Price. 1
[ You are required to prepare a statement showing working capital requirement for the year |
| 2022-23.
. OR |
Q.2 1| (B) [Prem Ltd. Produced and sold 30.000 units in a year. The selling price is Rs.10 (15)|
; Raw Material ' 60% of Selling Price ;
‘ | Direct Labour 1/6"" of Raw Material ‘
Overhead | Twice the Direct Labour ]
Material in Hand 2 Months
I = e ]
' Production Time | Month :
| | — |
- | Finished Goods in Stores | 3 Months |
‘Credit for Material _ | 2 Months !
|_ Credit allowed to customers ) l 3 Months ] l:
- |
| Cash Balance ' Rs.40,000 :
l b — S —_—
Wages and Overheads are paid in the beginning of next month. |
|
| You are required to prepare a statement showing working capital requirement for the yean
| 022-23. |
| .
Q.3|  [The following information relates to Mamata Ltd.- (15)
Earnings per share ' Rs.12 !
Dividend per share Rs.3
Cost of Capital 18% ’.
IRR 22% 1l
|~ . ¥ = [
LRetentlon Ratio 75% !
| Calculate market price per share using: a) Gordons Formula b) Walters Formula - |
L OR |
Q.3 ‘ (A) [The capital structure of XYZ Itd. Is as follows: (08)‘
| Paid-up capital (5 million shares at Rs. 10 per share): Rs.50 Million
Share Premium: Rs.80 Million |
Reserve and Surplus: Rs.60 Million. ;
Total Equity Capital: Rs.190 Million
The company decides to split its shares 4 for 1.What is the new capital structure of the company?
Q.3 | (B)[The following information is given of X Ltd.: (07)
| No. of Outstanding Shares — 8,00,000.
Current Market price per share is Rs.120
Contemplating Dividend per share is Rs. 6.4
Rate of Capitalization is 9.6%.
Based on M & M Approach, Calculate market price per share if a) Dividend is declared b) _
L Dividend is not declared \
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N Particulars R.|
‘ Wimta—l o - | 8,00,000 l i
| General Reserve 1,60,000 ’
&L Account (Profin o 2,40,000 |
Enrrrr o T ] 4,00,000 \ :
Secured Loans 2,40,000 |
Goodwill - 4,80,000 |
— 4,380,000
planiand Machinery - 6,40,000
| Casn T 44000
| Stock 5,96,000 |
\ Debtors - o 1,60,000 |
I T
i| _Credﬂors | 3.20,000 ‘| _
] Prepare Vertical Balance Shcet and Calculate: a)Current Ratio b)Quick Rati:)l_ -
__“l ¢) Stock Working Capital &q{Mroprietor’s_Ratio e) Debt-Equity Ratio. - B
Q.4 | B)| T Yid. - Demiis%‘:o—nzn_-()s-zozz T _—ll'ﬁ 5)
| Particulars - Rs. | I
Sales ' o 10,57,000 \
Closing Stock [ 460000| |
Purchases o 8,35,000 |
TosonSale of Assets 45000
e — | 32750| |
Rent 18,750 '
“Profiton Sale of Shares h - o w000 |
Provision for Tax 1,00.000 | ‘
“Salaries - 35,750 |
| Salesman Salaries - I -_—]4§0_
Depreciation 36,000
S — | 57,000
Depreciation on Delivery Van 8,000 |
Printing and Stationery 17,500 |
Audit Fees 12,000 |
Opening Stock 2,25,000 ;
“Dividend received on Shares 15,000 |
I I o =
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- ’7 Prepare Vertical Revenue Statement and Calculate a) Gross Profit

Ratio b) Operating Ratio ¢) Net Operating Profit Ratio d) Selling
and Distribution Ratio e) Net Profit Ratio.

Q.5 | (A) [Differentiate between Financial Accounting and Management Accounting. 1(08)
Q.5 | (B) [Explain M&M Model (07)

P OR -
Q.5 Write short notes on (Any 3) (15)

Operating Cycle

Walter’s Model

Management Accounting Framework

Net Working CE;Sital

fiordon’s Model

=BG
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